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That since he gives him a bit [more]; he becomes a @''2 on it

OVERVIEW

The X713 explained that an 71X is a @"w even according to n"7 (who maintains W
M7 11"'w3), because the 1N is paid a little more than his labor requires,l and for this
extra payment he is considered a w"w.

mooIn addresses an anticipated difficulty:
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And the X721 could have asked (on this answer), is the 71w»n (which states that
TINN are "), not also discussing cases where the owner did not give the 121X a
bit more and nevertheless he is still considered a " —

mooIn responds:
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Nevertheless, without this question (on the s'®773 answer), the X713 properly
refutes the answer given.”

SUMMARY
The payment to an 721X can be either exact, or slightly more than he deserves.

THINKING IT OVER
1. Is *"wn addressing moon question?”’

2. Why did not m»0in ask his question on the first answer of the &713, which stated
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that he was not "2 ¥"3 p>aw. What is the difference between both answers?*

3. Is there any advantage in m201n proposed answer over the s'X7n3 answer?

" See xp7 7"7"w". See ‘Thinking it over’ # 1.

? The X3 answered that by a 991 the same thing can happen that he rents it to him for less.
? See footnote # 1 and D> Mm2 NIXON.

* See qowT Y.
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